Evtoiés: H yhowooa unyovig

o Apyurrektovikn Xvvoio Evrolmv MIPS (assembly)
 avamapactacn 6to VAko (MIPS)
e neragpoon oo HLL og LLL

—  Aopég eréyyov Kon Bacikol TOTOL 0E00UEVOV

Keg. 2+ APPENDIX B
2.1-2.10,2.13, lTapdptnuo B
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Awaovvoeon Y AKOU/A0YIGHIKOD

H ocvupoixn avanapdotocn Tov eviolnv ovoudletorl GupPolkr) YAOooo, Kot
N avticTtoyn avomapdotoon pe aplfuovg ovopdaleton yaAwooa punyovig (ISA).

- H wepapyio petdppaong yia Eva Tpoypopio amtd vynAlov EXEO0L YADOGGO
LEYPL TN YAMGCGA, UNYOVNG.

C program

- éva poypoappa o€ C (vyniov
EMMEIOV YAMGGO,) LETAPPALETOL \

ce ouuPoMKkn YAOGGO amd TovV
HETAYAWTTIO

Assembly language program

- 0 cLUPOAOUETAPPAGTNG LETAPPALEL AW
TNV GLUPOMKT) YADOGO GE YAMGGA, UMYV,
- To mpdypappa mov tomobetel To TPOYPALLLLO Machine language program | |SA

NG YADGGOG UNYOVIG GTN LWVIUN YO EKTEAECT

\
ovoudletal poptoTig (loader).

Memory
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APXITEKTOVIKI ZUVOAOU EvToAwv
Instruction Set Architecture (ISA)

OUVOAO EVTOAWV

TeAeoTEC (add,sub,shift, load, store, branch,..)
TeEAEOTAIOl (KATAXWPENTEG, MVAMN KOl AUECEC TIMEG)
ouvTacn EVTIOAWYV Kal KwOIKOTToinOoN 0TO dUADIKO
onuaacioAoyia EVTOAWV

ApPIBUOC KaTaxwpnTwy, NEYEBOC KaTaxwpnTwYy,
OVOuATA KATaXWwpenTwyV

MéyeBocg pvnung, Endianess
2.UYXPOVIONOGC
Alaxeipion OIAKOTTWYV Kal ECAIPETEWV

ATTO 1010 DIEUBUVON CEKIVA N EKTEAECN N TTPWTN
evioAn (PC)
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MIPS Instruction Set Architecture (MIPS ISA)
APXITEKTOVIKN 2UuvOAou EvioAwv MIPS

[TOAAG XapaKTNPIOTIKA TwV evTOAWYV TNG unxavns MIPS ogeilovTal otn
KQAVOVIKOTTOINon, OTTwC:

— OAEG 01 eVTOAEG £xouv To id10 pEyeBOC (4-bytes 32 bits),
— QTTAITOUVTAI TTAVTA TPEIC KATAXWPNTEG YIA TIC APIBUNTIKEG EVTOAEC KaIl TA
TEdia TWV KATAXWPNTWVY KpatouvTtal oTnVv idla BEon yia OAa Ta €idn EVTOAWV.
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TeAeoTaiol (MIPS operands)
Registers and Memory

32 integer register $0-$31 (sp:29, gp:28) + Hi and Lo Registers (multiply and divide)

32 floating point register $f1,$f31

16 double precision $f0 (0-1), $f2 (2-3), ...$f30 (30-31)
cond (1 bit register for fp compares)

Called coprocessorl (cl) registers

232 bytes Memory M[0]
M[1] ....
M[4294967295]

PC (program counter) — address of next instruction to be executed

Coprocessor0 (c0) Registers yia (exceptions and interrupts)
I:D(" (‘nllnf Qf:mlc Cause

STAANIT Sy
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Category Instructions | Example Meaning Comments
Add add $1,%$2,$3 |$1=9%2+$3 3 operands; data in register
Arithmetic Subtract sub $1,%2,$3 |$1=9%2-3%3 3 operands; data in register
Add addi $1, $2, 100 | $1 =9$2 + 100 Used to add constants
Immediate
Load word | Iw $1,100($2) | $1 = Memory[$2+100] | Data from memory to register
Data Transfer Store word | sw $1,100($2) | Memory[$2+100] = $1 | Data from register to memory
Load upper | lui $1, 100 $1 =100 * 216 Loads constants in upper 16
immediate bits
Branch on beq $1, $2, 25 if ($1 ==9%2) go to Equal test; PC relative branch
equal PC + 4+ 100
Branch on bne $1, $2, 25 if ($1!1=%2) goto Not equal test; PC relative
Conditional | not equal PC + 4 + 100
Branch Setonless |slt $1,$2, $3 If ($2<$3) $1 =1, Compare less than; for beq,
than else $1 =0 bne
Set less than | slti $1, $2, 100 | if ($2<100) $1 = 1; Compare less than constant
Immediate else $1 =0
Jump ] 2500 go to 10000 Jump to target address
Unconditional Jurr_lp jr $31 go to $31 For switch, procedure return
Jump register _ _ .
Jump and link | jal 2500 $31=PC +4; go to 10000 | For procedure call
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multiply mult $52,9s3 Hi, Lo = 352 x $53 64-bit signed product in Hi, Lo

multiply unsigned |multu $52,9s3 Hi, Lo= $s2 x $53 64-bit unsigned product in Hi, Lo

divide div $s2,%s3 Lo= $52 / $53, Lo = quotient, Hi = remainder
Hi=$s2 mod $53

divide unsigned divu $s2,%53 Lo= $s52 / $53, Unsigned quotient and remainder
Hi=$sZ2 mod $53

move from Hi mfhi $s1 sl =Hi Used to get copy of Hi

move from Lo Used to get copy of Lo

mflo

$s1

$sl=00
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MIPS floating-point assembly language

(L ORI O B 55 R

| Arithmetic

| transfer

; Condi-
tional
‘[ branch

...........

[

"FP add smgto | add Fe,$f¢ 1 $f $F2 = $f4 + $16 [ FP add (single preczsron;

[E subtract smgic '% 5 L‘;- t\ ‘I;L 2,3 T _{—r,__'_q* £0 = §f4 B Ti - Fp 5ul’) (‘%_EELE_’JP D'E’ti’imsmn\ R
| FP multiply single mul.s $f2,$14,876 |$F2=3f4x 876 | FP. muitlpiy (single precision)

FP divide single div.s $f2,8F4,5f6 872 =814 /816 'FP divide (single D@Qon) _J
| FP add double | add -fi CLM $F4,5T6 | $F2 =814+ $f¢ FP add (double precision) _|
}FP subtract double | §17 6 |$fe=3%fd-$f6  [fp sub (double precision) |

[P mu!‘upty double 13f2=8f4x 556 \ FP multiply (double Dmm%kd;ﬁ—!

(PP divide &E)ubie | §F2=$F4 / $f6 [FP divide {doubie?r;m&.iom ) %

load word mpr 1

| I—

| store word copr. 1

bramh on FP true

1 = Memory{% 7+ 100}
Memory[w 2+ 100] =$F1

J 32 bit data to FP. rrﬂgt%{or

| 32:bit data to memory

branch on PP falso

I FP compare single
(eq ne,it,le gt, ge

FP compare double
(eq,ne, It te Et, ge)

if (CORd ==1) g0 to PC + 4 + 100 J PC-relative branch if FP cond. 7

if (cond = ) go to PC +4 4 100 PC- leiatwe branch if not cond. |

if (572 < $74) F“P compare less than f
cond = 1; else cond = 0 ' single precision

| If ($ 7 < $ff+} FP compare less th,"-;r;ﬁ— . ___[
cond = 1; else cond = 0 | double precision
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R.l.J Instruction types

Field size 6 bits [ 5bits | 5bits |5 bits 5 bits 6 bits All MIPS instructions 32 b
Format R op Is rt rd Shamt | funct Arithmetic Instruction
Format | op rs rt Address / immediate 16 bits | Transfer, branch, Imm.
Format J op Target address 24 Jump instruction
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Name Format | Example Comments

Add R 0 2 3 1 32 add $1,$2, $3
Sub R 0 2 3 1 34 sub  $1, %2, $3
Addo I 8 2 1 100 addi $1, $2, 100
Lw I 35 2 1 100 lw  $1, 100(%$2)
Sw [ 43 2 1 100 sw 31, 100(%2)
Lui I 15 0 1 100 lui  $1,100
Beq I 4 1 2 25 beqg $1,%2,100
Bne I 5 1 2 25 bne $1,%2,100
Slt R 0 2 3 1 42 slit  $1, %2, $3
Slti I 10 2 1 100 siti~ $1, $2, 100
J J 2 2500 i 10000

Jr R 0 31 0 0 8 jr %31

Jal J 3 2500 jal 10000
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Memory Model MIPS

0Ox0000 0000
Reserved

0x0040 0000

PC—

, Text
Text: KwOoIKAg

Static: global yarlables, constants 1000 0000 Static
Heap: dynamic 9P

Stack: local 0x1000 8000

Heap

User Address Space
0x0000 0000 — Ox7FFF FFFF

Kernel Address Space
0x8000 0000 — OXFFFF FFFF

$sp —— ]

Stack

OX7FFF FFFC




ApOuntikéc Evrorsc

- KéBe unyovn mpémel va, etvar tkovr va kKavel optOuntikéc mpacelc.

- KéBe apBuntikn evtoin ot yAowcsca MIPS éxel Tperg
netafintég (tehectaiong).

add a, b, c # a= b+c
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Hopaosvypa C . f=(g+h) - (i+))
Ti kodwa Ba propovoe va mapdéel o petayrlmttiomc g C;

add t0, g, h # mpoocwpvn petafint t0, Tepiéyet to g+h
add t1, 1, | # mpocwpvn petafAnt tl, Tepiéyet To I+
sub f, t0, t1 # f=10-1tl=(g+h)- (i+)

TelheoTaior TOV VAIKOV TOV VTOAOYLGTI

- 2115 ovuPorikég YAdooeg ol tedeatoiol (Operators) twv aptduntikmv
EVTOADV ELVOL KATAYOPNTES 17 UVHUY .

- H apyrextovikn MIPS £xe1 32 axépatovg Kotoympntég, ot omoiot
ocvuporilovtan pe $0, $1, ..., $31 (32 bits each)
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- Hapdaoderypo 'Eotm n mo kéto evioanom C: f=(g+h) - (i+]);
uetayhottiomg g C ovoyetilel tig petapintéc f, g, h, 1, ko j pe tovg
katoyopntég $16, $17, $18, $19, ko $20 avtictoiymg.

add $8, $17, $18 # o kataywpnmg $8 £xet to amotéhesua g+h
add $9, $19, $20 # 0 katoyopntg $9 £xel 1o amotédeouol i+
sub $16, $8, $9 # o xotaywpnne $16 £xel 1o amotédeouo

# (g+h)-(i+]), v e g petofintic f

O kataywpntéc $8 ko $9 avtiotorovv 6e TPOocmPIVES LETOPANTEG

HLL evioA£g ekppadovTtal e TTOANEG LLL eVTOAEC
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MvAun apXITEKTOVIKA MIPS

232% 8 hits
Byte Addressable

Little or Big Endian (can select at boot time)

EvioAéc Mvnung:
@opTwon (load) kai atmroBrikeuon (store)

OXI TTPACEIC ME TEAEOTAIOUC OTNV MVAMN

210V MIPS uttdpyxouv evioAéc yia load/store
lw/sw (4-bytes, word),

Ih/sh (16 bit, half-word, 2-bytes)

lb/sb (8bit — 1 bytes)

|d/sd (8-bytes, double word)
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-Yapyovv 0vo 1pomot yia apibunon twv Bytes oe pio AEEN: pe Tov TpdTO
TPOTO O UIKPOTEPOC APLOUOC Elvat O O APIGTEPA KO LLE TOV OEVTEPO TPOTO
elvar o0 1o 0e1di:
-Bigendian : Byte#0 1
- Little endian : Byte # 3 2

A
v

2 3
10 8 bits

- O eneEepyaotng MIPS gpydleton ko pe
TOVC OVO TPOTOVC.

- H owoyévela eneEepyaoctav g Intel
axolovbei To Little Endian.

20 004

\
20 003 F1 F4
20 002 F2 F3
X=F1F2F3F4hex >
20 001 F3 E2

20 000 F4 |:1 |

Little Endian Big Endian
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Evioln @optmonc - H evioAn mov petagEpetl 0€00uEVa amd Ty Uviun o€ va

katoxopn, ovopdleton load -my lw (load word) daBdace 4-byte
Eekvavtag amd TNy oevbuvvon Ry+0ffset Ko to aoOnkevel otov RX

lw Rx,offset(Ry) # Rx = [address = Ry+offset]

Hopaderypa 4: Yno0éote 011 0 mivakac A €xel Integers ototyeio Kot 0
LETAYAMTTIOTNG EXEL GLGYETIGEL TIG LETAPANTES O, 11, KAl | LLE TOVG
KOTOYDPNTEC , Kol .H (d1evBvveon Tov TPOTOL
oTtolyEiov oTov mivaxa) divetal eival 1 01evBvveon

Metagppaorte:
g=h+A[il;
add $21,$20,$19 // $21 tpocwpivy
lw $8,0($21)
add $17,$18,%$8

$20 base register A
$19 index register i
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ALIGVVOEGT VALKOV/AOYLGULKOD

- To uéyebog Tov oMoV TV pPeTAPANTOV ETNPEALEL TNV O1ELOVLVGLO0OTNON
GTIV LVIHN

- g =h+A[i]; /I Arivaxag akepoiov kdbe aképatog 4-bytes

- A$20,i1%19,9 %17, $h 18

sl $21,$19,2 /] i*4 sl shift left $19 by two bits
add $21,%$20,%$21 /] base+i*4

lw $8,0($21) /1 $8=[address]

add $17,$18,%$8
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Evtoin Amofnkevong: H avtiotpoen evioAn g load (pdptwae),
gtva 1 store -y sw (polage pa AEEN). AToOnkevon 4-bytec tov RX
Eexvavtog amd v d1evbuvon Ry+offset

sw Rx,offset(Ry) # [Ry+offset] = Rx

- Hapaoderypa 5- Yrobéote 6t1 1 petafAnt h cvoyetileton pe tov
katoyopnm $18. Yrobéote emiong 611 0 kotaympntig $19 €yer tyun 4 X 1.
oevbvveon tov A Bpioketon oto $20. Atvetar o mo kdtm Kodwag oe C :

Ali] =h + A[i];

ITotog eivan 0 avtictoryog kwotkog oe yYAwcsoo MIPS;

add $21,%$20,$19 // $21 npocwpivn
lw $8,0($21)

add $17,$18,$8

sw $17,0($21)
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A106OVOEST VAMKOD / AOYIGULIKOD

- Ta meprocdTEPA TPOYPALULATO XPNCUYLOTOOVV TEPIGGOTEPES TOTMIKES UETAPANTEG OE
GYECT UE TOLG KATUYOPNTES TTOVL OLOETEL 1 LNy OvT).
- O petayAottiot¢ Tpoomadel va Tomo0eTNOEL TIC TOMIKEC LETAPANTES TOV
YPNOLOTOLOVVTOL CUYVOTEPO, GTOVS KATAUYMPNTES, KOl TIC VITOAOUTES

(peTaPANTEG) oTNV PV

- H dw01kacia tng tomobetnong twv Atydtepa yp1nCILOTOMNUEVOV LETABANTOV
otV uvinun, ovoudletou register spilling.
- Av, o Ttapdostypa, £ovUe TEPIGCOTEPES 0o 32 netaffANTéC o€ Eva
TPOYPOLLLO. TOTE VTOYPEMOTIKA KAToleg Oa mpemet va Bpickovion otV
uvnun (v tov MIPS).
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(Kwodikotroinon) AvatrapdotTaon evTIOAWY TNV NNYXOVvA

- O\ec ot evtoréc ato MIPS éyovv péyebog 32 bits
- Al0QopeTIKOL TOTTOL EVIOADV

- H yevucn popeny eviodov R-type ot unyavy MIPS ue ta avtictouyo
OVOLLOTO, TV TEOLMV.

op rs rt rd shamt | funct
6 bits 5 bits 5 bits 5 bits 5 bits 6 bits

oOp: M Aetrtovpyia e evioAnc (operation of the instruction)
rs: o mpmtog Katoympntie stoddov (the first register, source operand)
rt: o devtepoc kaTaympnIG e100600L (the second register, source operand)

rd: o katoympntig mov o wapetl o amotédesua (the register destination
operand)

shamt: moocotnTO petokivnong

funct: ocvvaptnon (function). Avto 1o medio amoterel dapopomoinon e
EVTOANC atd TO eSO OP.
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AvatTapdaoTaon EVIoOAwvV R-type

op rs rt rd shamt | funct

0 17 18 8 0 32

add $8’ $17’ $18 000000 10001 | 10010 01000 | 00000 | 100000
6 bits 5bits 5bits 5bits 5 bits 6 bits

To mpmto kot tekevtaio medio (0 & 32) oe suvdvacud INAdvouy OTL T
pA&n mwov Ba extedeotel lvar  TtpdcOeoT.

To devtepo medio divel Tov aptOud tov kataywpnt ($17) mov sivon
YN TOL TPMOTOL TEAEGTOIO0V TNG TPOGHEDT).

To tpito medio diver tov apBud tov katoywpnt ($18) mov eivon n TNyy
TOL OEVTEPOL TEAEGTOLOV TNG TPOGHEGTC.

To tétapto medio divel Ttov apBud tov katoympnt ($8) mwov Oa deytel To
amoTEAEGUA TG TPOGHEGTC.

To méUmTo TESGIO OEV YPNGLUOTOLEITAL GE QVTH] TNV EVIOAT] KO Y10l ALTO
maipver v Tun 0.

$8 = $17+%$18
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Ag0TEPO €100¢ evTOANG ovoudCetal I-type
*  YPNOOTOIEITAL OTTO TIG EVIOAES LETOKIVIONG OE0OUEVOV
(m.y. lw, sw).

e Toa medla awTnC TG LOPENG Elva:

op Is It Imm
6 bits 5bits 5 bits 16 bits

e T mapdoctypa yio tnv evioAn: Iw $8, 4($19)
—  H 1ty 19 8o torobetndel oto medio s

—  H twyn 8 Ba tomobetnOei 610 meodio It [ 25 19 |8 4

— ko offset oto medoto Immediate.

—  Znuewworte 011 10 wedio I't oty evroin Iw divel 1o medio mov O
TAPEL TO ATOTEAEGLLOL.

— X170 SW 10 medio It mepi€yel ToV KaTay®pnTn Ue TNV TIUn mov Ha

TOEL GTNV LUV U SW $10, 16($29) 43 29 10 16
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K®Oo1komomoelg TV EVIOANDV OV HEAETNOOUE UEYPL TOPO!

Instruction | Format |[op |rs rt rd shamt | funct | Immediate
Add R Reg |Reg [Reg |0 32 n.a.
Sub R Reg |Reg [Reg |0 34 n.a.
Lw I 35 |Reg [Reg |[n.a. |na. n.a. Imm15:0
Sw I 43 |Reg |Reg |[n.a. |n.a. n.a. Imm15:0
e  Meyen tov medimv Y10 TIC IO TAVEO EVIOALC:
Field | op rs rt rd shamt | funct | Imm
Size |6 bits | 5 bits | 5 bits | 5 bits | 5 bits | 6 bits | 16 bits

" 01 evroAég add ko sub &yovv to 1010 0p medio.

» To medio funct mpocdiopilel mora apOuUNTIKA TPAEN (TPpdSbeon N
QPAIPEST) TTPEMEL VO EKTEAEGEL.

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Hopaodstypa 6- A[300] = h + A[300] ; /IA wivaxog axepaiov 4-bytes kobde int

YnoOéote 6t1 | petaPfinty h ovoyetiletan pe tov katoympnt) $18 kou emiong
ot 0 kaToympng $19 £yel tnv Tiwn A. H evtoln petayimtriletal oe:

lw $8, 1200($19) # o xatayowpnmg $8 naipvel tpocwpivé to A[300]
add $8, $18, $8 # o xotaympntg $8 maipvel mpocwpivé h+A[300]
sw $8, 1200($19) # To h+A[300] purdyeton micw ot 0£on A[300]

[Towo¢ eivan 0 kmokag o€ YAwooa unyaving (MIPS) yia tig mo mavem evioréc;

op rs [rt | (rd) | (shamt) Imm
/funct
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H popoen tov 1pudv eVIoA®V 610 0EKAIIKO GUGTNUO Efvatl:

op rs |rt | (rd) | (shamt) Imm
/funct

35 19 [8 1200
0 18 [ 8 8 0 32
43 19 [ 8 1200

* H evtoln Iw mpocdiopiletar amd tov apBud 35 (nedio op).
* H evroln add mpocdiopiletar amd 10 TpmdTO Kol tedevtaio medio (0 kot 32)
e H evtoln sw npocolopiletar amd tov aptfuo 43 6to Tp®d@TO TEDNIO

* H avrtiotoymn ovadikt Lope1) TV EVIOANDV (TPOTOC avVATUPAGTOCTC TOVE GE
YAMGGO, Unyovng) etvat:

100011 | 10011 | 01000 | 0000 0100 1011 0000
000000 | 10010 | 01000 | 01000 | 00000 | 100000
101011 | 10011 | 01000 | 0000 0100 1011 0000

e Ilpocéite Tnv opoldTNTA TG TPOTNG KO TPITNG EVTOANC OTNV OLAJIKY] ATEIKOVIOT).
— H povn dwagopd tovg PBpiocketar 6to mpmTo medio, oto Tpito bit amd ta apiotepd.
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Awaovvoeon Y AKOU/A0YIGHIKOD

H ocvupoixn avanapdotocn Tov eviolnv ovoudletorl GupPolkr) YAOooo, Kot
N avtictoyn avomapdotaon He aplBuovs ovoudleTal YAMCGH UNYOVIC.

- H wepapyio petdppaong yia Eva Tpoypopio amtd vynAlov EXEO0L YADOGGO
LEYPL TN YAMGCGA, UNYOVNG.

C program

- éva poypappa og C (vyniov
EMMEIOV YAMGGO,) LETAPPALETOL \

ce ovuPoMKkn YAOGGO amd TovV
HETAYAWTTIO

Assembly language program

- 0 cLUPOAOUETAPPAGTNG LETAPPALEL AW
TNV GLUPOMKT) YADOCGO GE YAMGGA, UMYV,
- To mpdypappa mov tomobetel To TPOYPALLLLOL Machine language program

NG YADOGGOG UNYOVIG GTN UWVIUN Y10l EKTEAECT

\
ovoudletal poptoTiig (loader).

Memory
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H neyain eikova:
. 21UEPD. O1 DTTOAOYIGTEG Elvol KTIGUEVOL TAV®D GE 0V0 PACIKEG
apPYES:
1. Ot evtoAéc amewkoviCovtot g aptOpol.

2. Tampoypdupato puropovv va arobnkevfovv otn pvhiun yuo vo
owaPactovv, N va. ypapovv, Onmg ol aptduoi.
3. To 1010 kou T dedopéva: LETAPANTEC, TPOCOPIVA ATOTEAEGULATA, OOMEC

- Avtn n apyn ovoudCetaor
" (stored program concept). John Von Neuman

(1946) John Von Neuman, J. Presper Eckert and John William
Mauchly

- --Ta Tpoypappate euiayovral
OTI] UVI|UT] GOV KAOIKOS 6€ YAMGSU, uyavis. (aveaptnta g
vAhomoinomng)

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Kotoyopnmig $0
o O kotaympntc $0 otn unyavn MIPS £yel mavta v Tipm O.

add $8, $0, $18 # 0 xoTtaympnt¢ 8 maipvel To dOpolcpa TOv
# xoatoyopnt 0 ko 18.

* 0 ovuPoropetappactig s YAwosas MIPS €yel v mo kdt®m evtoAr av
KOl 08V AVIKEL GTNV apYITEKTOVIKT NG unyavng MIPS:

move $8, $18 #o kotaympntg 8 Ha mhpeL TO TEPIEYOUEVO TOV
#roroyopntn 18.

O ovuPoroueTa@pactng LETAUPPALEL TNV IO TAV® EVIOAN GTNV
avtiototyn evtoin tov MIPS mov eivai: add $8, $0, $18

*  Ymapyovv otaQopes YEVOO-EVTOAES GTOV GUUPOLOUETAPPACTI)

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



PC (program counter)

o PC 32-bit kataxwpnTNS YIa KABOPICHUO PONC EAEYXOU

o KaBe kUkAo o kataxwpntnc PC trepiExel Tnv dieuBuvon
TNG EVTOANG TTOU eKTEAEITAI

o Aucavetal KaTa 4 yia va TTPOXWPNCEI 0TV ETTOUEVN
evioAn (4-bytes instructions)
e PC=PC+4 yia kaB¢e evioAn 1Tou dev gival diakAddwaon

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



EvToA£c OL0KAUOMGELS/ AVAANWYN UTOPAGEMY

. H pnyovn MIPS vrootnpilel 600 evIOALg Y10 Afyn amopaceny,
napduoteg e to If ko to goto,

beq registerl, register2, L1
Label: SingExtention(Imm15:0): 32767..-32768

. H mo wéve evroin (branch equal) petagépet my ektédeon tov
TPOYPAfTOG o1V evioln mov éxel eTukéta (label) L1 av to dedopéva
Tov registerl ioovvtan e ta dedouéva Tov register?.

If (Regl==Reg2)

PC=PC+4+L1x4 (relative addressing)
Else

PC =PC + 4

bne registerl, register?2, L1
. branch not equal

. AvTéc 01 000 eVTOALG OVORALOVTaL OLOKAUDDGELS VO GVVONKNY
(conditional branches).



- Mapaosvypa if: Aiveton o akdAovbog kmdikag o€ yAwooo C :
If (i==))
f=g+h;
f=f-1;
O petopintéc f, g, h, 1 kot | eivan torobetnuéveg otovg kKatoywmpntég $16 Emc $20.

bne $19, $20, L1 #gotoLl av il=]j
add $16, $17, $18 #f=g+h (ayvoeitarav i =])
L1: sub $16, $16, $19 #T="1-1 exteleiton mavrote

L1: eTikétec ypNolUeS Yio Tpocsdtopiopd otodywv branches

O cvuPorouetoppactnC VTOAOYILEL TNV TPAYUATIKT] LECO GTNV EVTOAN

-Op bne=5 o 19 20 1
6 bits 5bits 5bits 16 bits

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Iopaoerypa do-while: Atvetot o akdAovbog Bpoyyog oe C !

do{ g =g +Ali];
I =1+];
Ywhile(i!=h);

- YmoOéote 011
- o mivakoac A €yel 100 otoryeio words (32 bit=word = 4 bytes )

LETOYA®TTIOTNG GLOYETICEL TIC peTafANTéG 0, N, 1, Kol | UE TOVG KOTAUXWOPNTEG
$17, $18, $19 ko $20.

d1e00vvon tov Tivoka A oto $21.
O deiktng Tov mivaka I, Tpémetl va mollomhacialeton eni 4

Loop : sll $9, $19, 2 # I1pocwpivog katayopnme $9 =i x 4,
add $11,$9,$21 # VTOLOYIOHOC dEiKTN
lw $8, 0 ($11) # I1pocwpivog kotayopnte $8 = Afi]

add $17,$17, $8 # g=g+A[i]
add $19, $19, $20 #i=i+
bne $19, $18, Loop  # IIfyouve oto Loop av 1#h

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



J (Jump) evToAn dIOKAGOWONG XWPIiC ouvenkn
2uvtagn: | label

2NUagia: HETA TNV EKTEAEON TNG EVTOANG TUTTOU jump n pon
eAEyXou ouveXilel otTnv evioAn Pe 1o label

Format (j-type):
6-hit 26-bit

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Alev0vvor000ToN HE OLOKAGOMOT KOl AUEGES TIUES

- Tpitn popon evtorwv otov MIPS, n J-type,
- 6 bits yia to medio 0p (Aertovpyiog) kot To veoAowTa. 26 bits eivar yio To medio
TV O1eLhLVGEWV.

PC =PCy; 55:IRy5 (::00

Program counter (PC), 1) instruction address register: xotaywpntg 0 0moiog
anoBnkevel (kpatel) Tnv 01€00LVVON NG EMOUEVNC EVTOANC TTOL Ol ekTeELEGOEL.

0x04001000 j 10000 # goto location PCs; 25:10000x4 = 40000
2 10000
6 bits 26 bits

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



ALIGUVOEST VALKOV / AOYIGUIKOV

Ot HETAYAOTTIOTEG GLYVA OMNULOVPYOVV UETUTTOTGELS KOL ETIKETES TOV OEV
Topovcldlovtol oTIC YAMGGES LYNAOL eminédov. [a mapdostyua,
YPNOLUOTOLDOVTOS TIC LETAPANTES KOl TOVE KOTOUYOPNTES TOV TTLO TAV®D
TOPAOELYUOTOG, O 10 KAT® KOoKac oe C:

=] i==j?

i1=j

if (iI==))
f=g+h;
else
f=g-h; =

g+h

uetaylotrileton otov Mo kito kodowa MIPS:

Else :

f=g-

Exit :

bne $19, $20, Else # avi#jgoto Else
add $16, $17, $18 # f=g+h(oyvoeitarov i#£j)
J Next # go to Next
Else: sub $16, $17, $18 # f=g-h (oyvoeitanav i=j)
Next :

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)




AL0GVVOEGT] AOYIGLULKOV / VALKOV

while (save [i] == k)
=1+

* 1, ] xou K, avtiotoryovv otovg katoywpntéc $19, $20 ko $21, emionc
e 0 mivakog save Eekivd oty dieAvbuvon mov wepiéyet to $10.

Loop: sl $9, $19, 2 # [Ipocwpivog kotayopnme $9 =i x4
add $9,$10,%9 #save +ix4
lw  $8, 0 ($9) # I[Ipocwpivog kotaympntig $8 = save [i]

bne $8, $21, Exit # go to Exit if save [i] '=k
add $19, $19, $20 # 1=+
] Loop # goto Loop

EXit:

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Atveton o o kdtm kndikag e MIPS mov avtimpocwrevet Eva while loop og
Lo YAOGoo YnAov EmmESOV:

Loop: sll  $9, $19, 2

Eav 1 61e00vvon ¢ Tp@TNS EVTOM]S €lvar TO

lw  $8, 1200 ($9) 80000 ypaweTe TNV KOOIKOTOIG1 6TO OEKOOLKO
bne $8, $21, Exit tov Labels Exit ko Loop

add $19, $19, $20

J Loop

Exit:

goooo (0 (19|19 |0 |2 |O
80004 (35 |9 |8 |1200

80008 (5 |8 |21
80012 (0 [19|20|19 |0 |32
80016
80020

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



AL060VVIEST LOYIGULIKOV / VMKOV

e Av Kol 6YEOOV OAEC 01 OLOUKANOMGELS VIO GLVONKN Elval G€ KOVTIVEC
O1eLOVVGELC, LITAPYEL AVAYKT Y10l OLOKAAOMGT KOl 6€ LOKPLVES O1ELOVVOELC.
— T'o mapdoetrypa 1 eVIoan:

beq $18, $19, L1
umopel va avtikotaotadel e 000 eVIOAES, MG aKoAOVOMGC, Y1 va emttevyDel n
OlaKAGOmon otn pakpivh otevbovvon L1:

bne $18, $19, L2
] L1
L2:

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



slt (set-less-than)

. H evtoAn set on less than (slt), pog emtpénel va kdvooue cOykpion, m.y.
— slt $8, $19, $20

. O xotaywpnig $8 maipver v tun 1, av 1 tipn otov katoywpnt $19
glvarl 7o pukpn amd v Tiun otov koroympntn $20, dtapopetikd o
Katayopntg $8 naipver v tiun 0.

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



v v eAEEovpue av 1 LeTafANT) otov kotayowpnt) $16 eivar
TO WIKPN o7Td TNV TIUN 6Tov Kortaywpnt) $17

slt  $1, $16, $17 #S1=1 if $16 <$17
bne $1, $0, Less # goto Less if $1 # $0.

O evtoAécg slt kan bne extelovv v cuvOnNkn eLEyyo Yo TO
UIKPOTEPO.

2NV Tpayuatikotnta o cvuParduetappactng tov MIPS,
uetoppdlel v evioAn wevooevroin blt (branch on less than)
GTIC OVO O TAV®D EVIOAEC.

blt $16,$17,Less - TPOGOYN oTNV Ypnomn tov $1



Ir (Jump reqister / indirect jJump)

e  gvtoAn Jr (Jump register) extelel petamnonon yYwpic
cvvOnKn otnv oevbvvon (avtiotoyn etkéTa) oL Eival
ATOONKELUEVT] GTOV KOTOYWOPNT.

jr $9 # o katayopnts $9 mepréyel v o1ev0vvon TNG
EVTOMS Tov Oa ekTELEDTEL NETA

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Bitwise Aoyikol TeAeoTég

Shift left << sl R-type

Shift right >> srl R-type
Bitwise AND & and,andi R/I-type
Bitwise OR | or, ori R/I-type
Bitwize NOT ~ nor R-type

sl $10,$16,4 # $10 = $16 << 4 = $16 x 24
op IS It rd shamt func

0 O 16 10 4 0

0000 0000 0000 0000 0000 0000 0000 1001, 9
0000 0000 0000 0000 0000 0000 1001 0000,  (9<<4) =144

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Bitwise Aoyikol TeAeoTég

A: 0000 0000 0000 0000 0000 0000 0011 1001, =0x0000 0039
B: 0000 0000 0000 0000 0000 0000 1001 1000, = 0x00 00 00 98

Al B

A&B

Shift left A by 4
Shift right B by 2

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Un5|gned and Signed Teleotéc

Unsigned: zero-extend aueon tiun amd 16 o 32 bit

e Signed: sign-extend dueon tyun omd 16 og 32 bit

e ApiOuntikéc mpdEeic umopel va TpokaAEsovy exception
o€ mepintmwon overflow (emAoyn yio opiopd otnv
APYLTEKTOVIK)

 Logical operations immediate zero extend

add $1,$2,$3

addi $1,$2,0xf123 $1 = $2 + Oxfffff123
addu $1,$2,%$3

addiu $1,$2,0xf123 $1 = $2 + 0x0000f123
ori $1,%$2,0xf0 $1 = $2 | 0x000000f0

andi $1,$2,0xff00 $1 = $2 & 0x0000ff00

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



. H popon evrorov I-type eivon yio Immediate-type svtoiég (onA.
EVTOAEC OTIC OTOleC Evag amd Tovg TeAeaTaiove Toug eivan otabepd). To

nedio tov  MIPS 610 omoio amoOnkeveton n otabepd xel péyebog 16
bits.

. H evtoAn nmpocOeonc - add n omoia €xet éva otabepd Tehectaio
ovoudletron add immediate i addi. I'ia va tpocOécovpe tov aptOuod 4
oToV Kotoywpntn 29 ypdepovue amhd:

addi $28, $29, 4 #$28=%$29+4
O K®OKOC UNYOVNC: _ _

op s It Immediate

8 29 28 4

001000 | 11101 | 11100 | 0000 0000 0000 0100

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



O1 teleotaiol aueong tpocsPacnc/otebepéc (immediate)
elval €miong ToOAD ¥PNGLUOL YO TIC GLYKPIGELC.

Onwc &xovpue tovioet o katayopntig $0 £yel mavto v TIUN
0, €101 UTOPOVUE VO GLYKPIVOLLE LIE TO UNOEV.

['la 6OYKplon pe AAAES TIHEC, UTOPOVLUE VO
ypnoomotcove tnv evtoAn slti (set on less than
Immediate),

[0 Tapdoerypo oTic To KATm evtoléc BE ovUE Vo
GLYKPIVOULUE OV TO TEPLEYOUEVO TOV Kataymwpntn 18 etvar
UkpOTEPO amo to 10 :

siti $8, $18, 10 #$8=1 if $18<10
bne $8, $0, Less # goto Less if $18<10

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



H ypnon otafepov telectaimv eival oAb cuyv).

. Av ko 01 TepLocdTEPES 0TAOEPES YOPAVE 6TO TEDIO TV 16DItS, pepikég
POPEC UTOPEL VoL E£YOVLE KO IO UEYAAES oTOOEPEC.

. H evtoAn tov MIPS load upper immediate (lui), petapépet to. 16 bits

g otafepd oo o YynAd 16 bits Tov katoxwpnt, aprvovtag to
yaunidtepa 16 bits vo mpocdtopiobovv amd pio GAAN EVIOAN

. lui Rx, Imm15:0 # Rx = Imm15:0 0000 0000 0000 0000

op destination immediate
001111 | 00000 | 01000 | 0000 0000 1111 1111

. O k®dkoc o€ YAdooo unyavig yuo tnv evtoin lui $8, 255

0000 0000 1111 1111 0000 0000 0000 0000

Ta mepieyopevo tov $8 uetd amd v extédeon g evroing lui

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



- Iloilog Ba eivan 0 kdOKag ot cvuPforxn YAwsca MIPS yia va poptdcovpue

v o kdte 32-bit otabepd 610 Katoywpnt $16:
0000 0000 0011 1101 0000 1001 0000 0000 = 0x003D0900

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



- Iloilog Ba eivan 0 kdOKag ot cvuPforxn YAwsca MIPS yia va poptdcovpue

v o kdte 32-bit otabepd 610 Katoywpnt $16:
0000 0000 0011 1101 0000 1001 0000 0000 = 0x003D0900

lui $16, Ox3D
addiu $16,$16,0x900

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



- Iloilog Ba eivan 0 kdOKag ot cvuPforxn YAwsca MIPS yia va poptdcovpue

v o kdte 32-bit otabepd oo katoywpn $16:
0000 0000 0011 1101 0000 1001 0000 0000

ui $16, 0x3D 0x003D0000
addiu $16,$16,0x900  0x003D0900

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



YnrootnpiEnc ol001KOGLOV/GUVIPTNGEMV GE ETITEO0 VALKOV

- M AXE mpémet vo mapgyet va IpOmo HETOPOPAS TNG POTIG
EKTEAEGTG TOV TPOYPULLLLOTOG GE |10 Sladtkacio Ko (xKokoueoog VO, ETTPENEL
TNV ETLOTPOPN OTNV ETOUEVT] EVTOAT] (OUECOC UETE OO TNV EVIOAT] TTOV
KAAEGE TN O1001KOGI).

foo();

a=a+1;

void foo(
return;

- H apxnsm:ovucn MIPS vrootnpilel tnv evtoAn jump - and - link (jal) mwov
- %71:0 8)1)81 ™ 61ev0vveon ¢ evToAnc Tov akoAovbel To jal oTov KaTaympnT

- ugromnéa o€ pia devbuvon

jal ProcedureAddress # $31 = PC+4, PC = ProcedureAddress (Label)

- H evtoAn mov petamndd oty emotpopn (return) givoun n
jr$31

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



YV wepintoon mov Eyovus poioocuéva (nested) jal tote civar
amapaiTnTo Vo QuAayTel N opyik TIp] Tov $ra mpw va
ekteréoovue Ta jal mov axorovBovv.
— O 100viKdg TPOTOG Yo ETiTEVEN OVTAG TNG Agttovpyiag eivon n
ypnouomoinon g otoifag (stack). Last-In-First-Out (LIFO)

Xpelaletat £vag ogiktng mov Ba ogiyvel oTny KopueN NG 6T0iPag,
OMAQON €KEL TOL 1) ETOUEVY EVTOAN TPETEL VL TOTODETNGEL TOVG
Katoyopntég te. Stack Pointer (sp)

H tomoBétnomn dedouévmv ot otoifa ovopdletar push, evod m
LetTakivnon tovg and tnv 6toifa pop.

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Yoot piEnc ol0olKOGLOV/GUVAUPTNGEMV GE EXITEO0 VALKOD

100 foo(); Stack
104 a=a+1; 0
100 0 1
200 void foo(){ 2
3

240 x= fo0l();
244 X=X+Y,;

280 return;
}
300 intfool(){

364 return k;
}

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Yoot piEnc ol0olKOGLOV/GUVAUPTNGEMV GE EXITEO0 VALKOD

100 foo(); Stack
104 a=a+1l; 0
100 104 O 1
200 void foo(){ 200 2
3

240 x= fo0l();
244 X=X+Y,;

280 return;
}
300 intfool(){

364 return k;
}

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Yoot piEnc ol0olKOGLOV/GUVAUPTNGEMV GE EXITEO0 VALKOD

100 foo(); Stack
104 a=a+1l; 0
100 104 O 1
200 void foo(){ 200 2
3
240

240 x= fool();
244 X=X+Y,;

280 return;
}
300 intfool(){

364 return k;
}

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Yoot piEnc ol0olKOGLOV/GUVAUPTNGEMV GE EXITEO0 VALKOD

100
104

200

240

244

280

300

364

foo(); Stack
a=a+1; 0 104
100 104 O 1
void foo(){ 200 244 1 2
3
x= f001(): 240
X=X+Y; 300
return;
¥
int fool(){
return k;
b

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Y7mootnplEnc oluolKOGLOV/GUVUPTNGEMV GE ETITEO0 VALKOD

100
104

200

240

244

280

300

364

foo(); Stack
a=a+l; 0 104
100 104 O 1
void foo(){ 200 244 1 2
\ 3
x= f001(); 2440
X=X+Y; 300
return; T
¥
int fool(){
return k\

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Yoot piEnc ol0olKOGLOV/GUVAUPTNGEMV GE EXITEO0 VALKOD

100
104

200

240
244
/ 280
\300
364

foo(); Stack
a=a+l; 0 104
100 104 O 1
void foo(){ 200 244 1 2
\ ... 104 O 3
x= f001(): 240
X=X+Y; 300
return;
364
by
244
int fool(){
return k\

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



N

Yoot piEnc ol0olKOGLOV/GUVAUPTNGEMV GE EXITEO0 VALKOD

100 foo(); Stack
104 a=a+1; 0 104
100 104 O 1
200 void foo(){ 200 244 1 2
\ .. 104 O 3
240 x=fool(); 240
244\ X=X+Y; 300
280 return;
364
}
244
280

300 intfool(){ \

364 return k:

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Yoot piEnc ol0olKOGLOV/GUVAUPTNGEMV GE EXITEO0 VALKOD

100 foo(); Stack
104 a=a+1; 0 104
100 104 O 1
200 void foo(){ 200 244 1 2
\ ... 104 O 3
240 x=f00l(); 220
244 \ X=X+Y; 300
280 return;
364
}
244
300 intfool
\ O{ \ P
364 return K; 104

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Name Format | Example Comments

Add R 0 2 3 1 0 32 add $1, $2, $3

Sub R 0 2 3 1 0 34 sub  $1, $2, $3

Addo I 8 2 1 100 addi $1, $2, 100

Lw I 35 2 1 100 lw  $1, 100(%$2)

Sw | 43 2 1 100 sw 31, 100(%2)

Lui I 15 0 1 100 lui  $1,100

Beq I 4 1 2 25 beq $1,$2,100

Bne I 5 1 2 25 bne $1, $2, 100

Slt R 0 2 3 1 0 42 slt ~ $1, $2, $3

Slti I 10 2 1 100 slti~ $1, $2, 100

J J 2 2500 i 10000

Jr R 0 31 0 0 0 8 jr  $31

Jal J 3 2500 jal 10000

Field size 6 5 5 5Dbits [5bits |6 All MIPS instructions

bits | bits | bits bits | 32 pits

Format |R op rs rt rd Sham | funct | Arithmetic

R t Instruction format

Format |l || op rs rt Address / immediate | Transfer, branch,
Imm. Format

FormatJ | J op Target address Jump instruction
format

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)




[TOAAG XapaKTNPIOTIKA TwV evTOAWYV TNG unxavns MIPS ogeilovTal otn
KQAVOVIKOTTOINon, OTTwC:
— OAEG 01 EVTOAEG £xouv TO id10 pEyeBOC,

— QTTAITOUVTAI TTAVTA TPEIC KATAXWPNTEG YIA TIC APIBUNTIKEG EVTOAEC KaIl TA
Tedia TWV KATaXweNTWV KpatouvTtal oTnyv idia BEon yia OAa Ta €idn
EVTOAWV.

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Memory Model MIPS

0Ox0000 0000
Reserved

0x0040 0000

PC—

, Text
Text: KwOoIKAg

Static: global yarlables, constants 1000 0000 Static
Heap: dynamic 9P

Stack: local 0x1000 8000

Heap

User Address Space
0x0000 0000 — Ox7FFF FFFF

Kernel Address Space
0x8000 0000 — OXFFFF FFFF

$sp —— ]

Stack

OX7FFF FFFC




2TOI3a

o XWPOC OTNV UVNMN YIa OECPEUCN TWV TOTTIKWYV
HETABANTWY (TTAPAPETPWYV, TIUNA ETTIOTPOPNC) KABE
ouvapTnong

o T[1600¢ Ywpocg; Ecaptaral atrd 1o €id0C Kal TTAB0C
WETABANTWY ouvapTnon
e ETioNng TutroTroinon yia TTPOC0TACia KATAXWPNTWY

o AegopeUeTal 0 XWPOC OTAV KAAEITAI N OUVAPTNON

o ATTO0EOUEUETAI OTAV ETTIOTPEPEI N OCUVAPTNON

o PSP KATAXWPENATNS TTOU OEIXVEI 0TV KOPUPN TNC
oT0ia¢
o Afopeuon agaipeon atrd to $sp
e Amodéopeuan TTpdoBeon oto $sp
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Tvronoinon yio KAnon Zvvoptnoewv
(Calling Convention)

Xpfon Tumomoinog Yo NELMGT] KOGTOVS TPOGTUGLUS GUVAPTI|CEMV

1. AmoOnkever avtég mov kaiel (caller save). H dadikacio mov kokel
elva vTevOLYN Y10 TO PVAAY LA KL TNV ETOVAPOPE TOV KATAYOPNTOV, Ol
00101 TPEMEL VO PLAOYTOVV KOTA TNV OLAPKELN TNG EKTEAEGTC TNG
oradikaciog. Tote n dadikacio mov KaAgitor uropet va aALAEEL
OTO10ONTTOTE KOTOYWPNTT.

2. AmoOnkevel avtoc mov kaieitar (call/callee save). dvlael ko emavaeépet
aVTOC oL KaAeital. H dwadtkacio mov kadeiton guAAdEL TOVC KATOY®PNTEG,
TOVLG YPNOUOTOLEL OIS BEAEL KO EMAVAPEPEL TOVS APYLKOVS GTO TELOG
TOL KOAEGUOTOC,

3. O 6VVOVUONUOS TOV Lo TAVO
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Tvronoinon MIPS: n Méon Avon

e Registers divided into sets:

Preserved on Call
Not Preserved on Call

* Preserved on Call
— VTOGVVOAO KOTAYMPNTOV TOL 0LTOC TOL KaAel EEpetl g avtol Ba dratnpnbovv

ue evfovvn avTov TOL KaAeiTAL

— Avtog mov kaAgiton edv adAddler preserved on call registers mpémet va

LLEPIUVTCEL VO, TOVG OLATNPTGEL GTNV UVIUN KO VO TOVG ETOVAPEPEL LEGO GTOVG
KOTOYOPNTES TPV EXLTPEYEL

 Not Preserved on Call

VTOGUVOAO KATOXOPHTMY TOV AVTOG TOV KOAEL GV TOVG YperdleTat va
owatnpnOovv TPETEL VOL TOVG ano@mcsucat GTNV LV TPV THY KANGoN Ko vol
TOVG EMOVOPEPEL GTOVG KOTAYDPNTEG LETA TNV ETIGTPOPT

AvTtO¢ oL KaAgiton Pmopel vo TOVG YPNOLUOTONGEL YOPIC OTOLNONTOTE
TEPETOIPM EVEPYELL
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TutroTroinon

Policy of Use Conventions

Register number Usage Preserved on call?
$zero 0 the constant value O n.a.
$v[0-1] 2-3 values for results and expression evaluation no
$a[0-3] 4-7 arguments no
$t[0-7] 8-15 |temporaries no
$s[0-7] 16-23 |saved yes
$t[8-9] 24-25 |more temporaries no
$gp 28 global pointer yes
$sp 29 stack pointer yes
$fp 30 frame pointer yes
$ra 31 return address yes

Register 1 ($at) reserved for assembler, 26-27 for operating system
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Tutrotroinon KAnong

Q1 KaTaxwpenTEC TTOU gival preserved on call
OTavV PIa ouvApTNON MTTOPEI va aAAGCEl TNV TIMA TOUG TOTE TTPETTEI VA
atrobnkevovTal oTNV apxn TNG CuVAPTNONG KAl VA TOUC ATTOKABIoTA
OTO TEAOG
sp kal fp eCaipeon (apaipeon otnv apxn /TTpdcBeon oTo TEAOG)

*O1 AANOI KaTaxwpENTECS
OTavV JIa ouvapTnNOoN KAAEi AAAN ouvapTtnon Kai XpEeIaleTal va
dIaTNPNAOEI TIG TIUEG OE TTPOCWPIVOUG TOTE TTPETTEI va ATTOONKEUOVTAI
TTPIV TNV KANON TNG GAANG ouvapTNONG KAl VA QOPTWVOVTAI UETA TNV
ETTIOTPOPN

o€ leaf cuvapTtioeIg

temporaries yia OAe¢ TIG JETABANTEC (MOVO av xpelaleTal saved),
aAANIwG o€ non-leaf ocuvapTHoEIC:

temporaries yia TTPOCWPIVEC HETABANTEC

saved yia TOTTIKEG
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- [l vrooTPIEN cVVOPTNGE®Y YPELOUUOTE LETAPOPA TTOPALETPWOV GE LioL
otadKacia.
1. Xy apyrtextoviky MIPS 1 uébodog avtn yiveton pe v tomobétnon
TOV TapouETpmv oTovg Kataympntéc $4 émg $7. (a[0],a[1],a[2],a[3])
2. Aev givau preserved on call, £tot edv pio dadikacio yperdletor vo KaAECEL Lo

GAAN Olo01KOGi0, OVTOL 01 KATOYMPNTEC LITOPOVV Vo, LANYOOVV Kot VoL TOVG
EMOVOPEPOLLOL GTT] GLVEYELD YPNOLULOTOLOVTOS T oTOoifa.

o T TIEC EMOTPOPNG ¥PNOILOTOLOVVTOL Of KaToywpntéc $2 ko $3

(v[O].v[1])

* Kdbe cuvaptnon mov dev givor pOALO amobnkevel oty otoifa To return
address register ($ra)

e KdbBe cuvdptnon 0eGUEVEL YDPO GTNV GTOIPA Yol TIG TOTIKEC TNG UETAPANTES

Tutrotroinon yia FP registers in the lab
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2.UVOPTNOEIC, TTEPACUA KAl ETTIOTPOPN

[MapaueTpwyv

o [pawete ouvaptTnon countl TTou YETPA KAl
ETTIOTPEQPEI TA 1 TTOU TTEPIEXEI N AKEPAID
TTAPAMETPOC X

o (Iy eav x=37 Oa emoTpEWwel 3 yiaTi oTo dUAdIKO
10 37 €ival To 0100101)
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2.UVOPTNOEIC, TTEPACUA KAl ETTIOTPOPN
[MapaueTpwyv
o [pawete ouvaptTnon countl TTou YETPA KAl
ETTIOTPEQPEI TA 1 TTOU TTEPIEXEI N AKEPAID
TTAPAMETPOC X
Int countl(int x){
Intn =0, t;
while(x!=0){
t=x& 1;
N=n-+t;
X=x>>1;

}

return n;
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2.UVOPTNOEIC, TTEPACUA KAl ETTIOTPOPN
[MapaueTpwyv
o [paweTe ouvapTnon count2 TToU UETPA KAl
ETTIOTPEPEI TO ABPOICHA TWV 1 TTOU TTEPIEXOUV Ol
OKEPAIEC TTAPAMETPOI TNC X KAl Y
Int countl(int x){
Intn =0, t;
while(x!=0){
t=x& 1;
N=n-+t;
X=x>>1;

}

return n;
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2.UVOPTNOEIC, TTEPACUA KAl ETTIOTPOPN

[MapaueTpwyv

o [paweTe ouvapTnon count2 TToU UETPA KAl
ETTIOTPEPEI TO ABPOICHA TWV 1 TTOU TTEPIEXOUV Ol
OKEPAIEC TTAPAMETPOI TNC X KAl Y

Int countl(int x){

Intn=0, t; Int count2(int x, int y){
while(x!=0){
t=x&1,;
N=n+t; }
X=x>>1;
}
return n;
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2.UVOPTNOEIC, TTEPACUA KAl ETTIOTPOPN

[MapaueTpwyv

o [paweTe ouvapTnon count2 TToU UETPA KAl
ETTIOTPEPEI TO ABPOICHA TWV 1 TTOU TTEPIEXOUV Ol
OKEPAIEC TTAPAMETPOI TNC X KAl Y

Int countl(int x){

Intn =0, t; Int count2(int x, int y){
while(x!=0){ Int t = count1(x)+countl(y);
f=x &1 return t;
N=n+t; }
X=x>>1;
}
return n;



Int countl(int x){

Intn =0, t;
while(x!=0){ Variable to Register Mapping
t=x&1; x =>al
n=n-+t: n =>v0
. t =>t0
X=x>> 1;
}
return n;



X =>al
n=>v0
t=>10

Int countl(int x){
Intn=0, t;
while(x!=0){

t=x&1;
n=n+t;
X=x>>1;

}

return n;

countl;:
loop1.:

end:

add
beq
andi
addu
srl

Jr



countl: add $v0,$0,$0
loopl: beq $a0,%0,end
andi $t0,$a0,1

addu $v0,$v0,$t0
srl  $a0,%a0,1
] loopl

end: jr $ra



x =>al
y:> al
t=>v0

Int count2(int X, int y){
int t = count1(x)+countl(y):
return t;




x =>al
y:> al
t=>v0

Int count2(int X, int y){
int t = countl1(x);
t =t +countl(y);
return t;



count2: add $sp,$sp, -
sw  $ra,0($sp)

jal countl # pass ao, return vO

jal countl # pass al, return vO

\W, $ra,0($sp)
add $sp,Psp,
jr $ra

Int count2(int X, int y){

Int t = count1(X); ;(, z :(1)
t =t +countl(y); t =>v0

return t;



count2: add $sp,$sp, -12

SW
SW
SW

$ra,0($sp)
$s0,4($sp)
$al1,8($sp)
countl
$s0,%0,$v0
$a0,8($sp)
countl
$v0,$s0,$v0
$s0,4($sp)
$ra,0($sp)
$sp,Psp, 12
$ra

countl: add $v0,$0,$0
loopl: beq $a0,%0,end

end:

andi $t0,%a0,1

addu $v0,$v0,$t0
srl $a0,%$a0,1

| loopl

jr  $ra



2UVOPTNOEIC QUAAO

INtg(intx, inty) {
return (X + y);

}

g:
add $v0,$a0,$al  # result is sum of args
r $ra # return
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Enclépyooio pe Ilivakeg

void (int array[ ], int size)
{ inti;
for (1=0;i<size;i1=1+1)
array[i] =0; }

- : YrnoB€tovue 6t o1 0Vo mapdueTpot array kot Size fpickovol 6Toug
katoyopntég $al ko $al, avriotorya. H petafint i Bpioketal 6to
katayopnt) $t0 KAl twg mavrote to Size>0
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O k®OKaC TNG O100TKOGTOG ot YAwcco MIPS eivau:

move  $t0, $zero #i=0
loopl: sl $t1, $t0, 2 #temp=i x4
add $t1, $a0, $t1 # temp = address of array[i]
SW $0, 0($t1) # array[i] =0
addi  $tO, $t0, 1 #i=i+1

blt $t0,%al,loopl  #if (i<size) repeat
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KAAY TEPOX k®dwog e dradikociog ot YAdooo
MIPS eivou:

move  $t0, $a0 # p= &array|[0]

sl $t1,%a1,2 # size*4

add $t1,$t1,$t0 # base+size*4
loopl: sw $0, 0($t0) # array[i] =0

addi  $t0, $t0, 4 #p=p+4

blt $t0,$t1,loopl # if (p<&array|[size]) repeat
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System Calls (SPIM)

o Support for some small number of useful services .data
* Eiocodog, £¢0d0¢
strl:
o XpNnon evroAng syscall
.asciiz “Output = *“

e [loio syscall kaBopileTal atrd TNV TIu aTov $vO0
text

« O mmapdpetpol Tou syscall otoug $a0-3
addi $v0,$0,4

« H TiyA emoTpoPric aTov $v0 la $a0,strl
syscall
addi $v0,$0,1
addi $a0,$0,5
syscall
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System Calls (SPIM)

print_int
print_string
read _int
read_string

sbrk

exit
print_char
read_char

c o1 ~ B

10
11
12

$a0
$a0
$vO0

$aO=address,
$al= length

$a0= moootnta  $vO (address)

$a0 = character
$vO0

2wpOo (Heap)

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Exceptions kal Interrupts

o EXceptions:TpokaAouvTal Atro
AAON/eCAIPETIKA YEYOVOTO KATA TNV
EKTEAEON EVTOAWV

 Interrupts: TTpoKaAouvTal a1To povaodec E/E
(1/0), debugging breakpoints

o AvTiyeTwrriCovTal ue exception handlers
— MIKpEC pouTiveg

« MIPS xprjon coprocessor registers yia
QVTIMETWTTION INterrupts Kai exceptions
o ETiTTASOV KaTaxwpntec otnv A2E
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Program Interrupted

User Program

ld Interrupt Handler

add /’
st /

mul
eret
beq |

1d
sub
bne

Service
Routines

Interrupt/Exception Handler should not change user program state

Interrupts/exceptions seem as arbitrary function calls in the middle of your program
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Exception Causing Instructions (Synchronous)

# divide by zero -- breakpoint
div $t0, $t0, $zero

# arithmetic overflow
li $t1, Ox7ffffff
addi $t1, $t1, 1

# non-existent memory address -- bus error
sw $t2, 124($zero)

# non-aligned address -- address error
sw $t2, 125($sp)
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Interrupts from external devices
(Asynchronous)

o User pressed a key on console

e Console ready to display another
character

e Hardware timer expired
 Disk read complete (trx DMA)
« Memory error (tTrx ECC RAM)

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Coprocessor Registers

Register Register
name number |Usage

BadVAddr 8 memory address at which an offending memaory reference occurrad
Count 9 timer

Compare 11 value compared against timer that causes interrupt when they match
Status 12 interrupt mask and enable bits

Cause 13 exception type and pending interrupt bits

EPC 14 address of instruction that caused exception

Config 16 configuration of machine

» [1poofaon pe xpnon Twv evioAwv mfcO kalr mtcO
 Emmékraon AZE

o MeTa aTro €va exception o EPC TrEpIEXEI TNV
d1euBuvon TNC “rrpoANUATIKA” EVIOANC

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



Status kal Cause Registers

s =
e 5, B2
23 0T go
SE =g
15 8 4 1 0
Interrupt
mask
31 15 8 6 2
cavse | N I || |
Branch Pending Exception
delay interrupts code

o [a dlakpiBwaon 11 TTPOKOAEI €va interrupt/exception

o [0 KOBOPIOUO TWV ETTITPETTOPEVWY INnterrupts Kai
exceptions (e1Tiong TTPOTEPAIOTNTA)
* 6 level of interrupts and 2 software levels (user/kernel)
« MASK bhits: 1 enable interrupts, O disable interrupts
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STATUS Register

 Exception Level bit: normally 0 unless there is
an exception

« When EL is 1 no interrupts/exceptions are
allowed and the EPC is not updated by
subseguent exceptions

 The above help to keep exception handler
uninterrupted, EL is set to O by exception handler
(when done)

 |E=1 permit interrupts, IE=0 interrupts disabled
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T1 TTPOKOAEI exceptions Kal O

KWOIKOC Tou 010 Cause register
wumber [Neme [caseotexcopton

0 Int interrupt (hardware)
4 AdEL address error exception (load or instruction fetch)
5 AdES address error exception (store)
6 IBE bus error on instruction fetch
T DEE bus error on data load or store
8 SvVs syscall exception
2] Bp breakpoint exception
10 Rl reserved instruction exception
11 Cpll coprocessor unimplemented
12 O arithmetic overflow exception
13 Tr trap
15 FPE floating point

o MeTa Q11O exception n ekTEAeon ouveyilel oTnV
d1euBuvon 0x80000180 (kernel address space)
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T1 oupPaiver YeTa...

* To exception handler avayvwpilel Ti
TTPOKAAECE TO exception N Interrupt Kail EKTEAEI
avaAoyo routine (service) N Teppatidoviag TNV
OlEpYACIa TTOU TO TTPOKAAECE, TT.X.:

— EKTEAEON UN APXITEKTOVIKNC EVTOANC => Kill

— Page fault => service yia va gEpoupe dedOUEVA
QTTO TOV OIOKO

— User/system configuration => Ayvoei To exception
o [1x apIOuUNTIKN UTTEPXEIAION
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.ktext 0x80000180

$at # Save $at register
save(  {f Handler is not re-entrant and can’t use
# stack to save $a0, %al

# Don’t need to save $k0/%k1

mov  Fk1,

sw  $al,

sw $al, savel

mfc PO, 313

s5r] $al, 3kO, 2
andi tal, $a0, Oxf
beqz $a0,$0,done

mov tal, 3kO

mtecl tal, 314

Jjal print_excp

dL
ir

Ji
r

JL
r

Move Cause into $kO

Extract ExcCode field

ArmAomroinuévo mrapadsiyua

Branch if ExcCode is Int (0)

i# Move Cause into $a0
Move EPC into $al
Print exception error message

JL
r

JL
i

# KwOIKag TTou dlaxelpileTal TIG OIAPOPES TTEPITITLWOEIG

done:

mfco
addiu

mtcl

mtcl

mfcl
andi
ori

mtco

Tw
Tw
mov

eret

$kO,
$k0,

$k0,

$0,

$k0,
$kO,
$k0,
$kO,

$al,
tal,
tat,

$14
$ko, 4

$14

$13

312
Oxfffd
Ox1
312

savel
savel
$k1

Eump EPC

Do not reexecute
faulting instruction
EPC

Clear Cause register
Fix Status register

Clear EXL bit
Enable interrupts

Restore registers

x1rd Patterson kal Hennessy)
Return to EPC



.ktext 0x80000180

$at # Save $at register
save(  {f Handler is not re-entrant and can’t use
# stack to save $a0, %al

# Don’t need to save $k0/%k1

mov  Fk1,

sw  $al,

sw $al, savel

mfc PO, 313

s5r] $al, 3kO, 2
andi tal, $a0, Oxf
beqz $a0,$0,done

mov tal, 3kO

mtecl tal, 314

Jjal print_excp

L

t Move Cause into $kO

o

# Extract ExcCode field ArmAomroinuévo mrapadsiyua

.
]

Branch if ExcCode is Int (0)

=,
=

i# Move Cause into $a0
#f Move EPC into $al
# Print exception error message

# KwOIKag TTou dlaxelpileTal TIG OIAPOPES TTEPITITLWOEIG

done:

mfco
addiu

mtcl

mtcl

mfcl
andi
ori

mtco

Tw
Tw
mov

eret

$kO,
$k0,

$k0,

$0,

$k0,
$kO,
$k0,
$kO,

$al,
tal,
tat,

$14
$ko, 4

$14
$13

312
Oxfffd
Ox1
312

savel
savel
$k1

i# Bump EPC

# Do not reexecute : 7
# faulting instruction Why we save $at in $k1*
# EPC Why we save $a0 and $al?

Where do we save $a0 and $al?
Why we do not save $k0 and $k1?

# Clear Cause register
# Fix Status register

# Clear EXL bit
# Enable interrupts

i# Restore registers

x1rd Patterson kal Hennessy)
# Return to EPC



Why we save $at in $k1?
. gatndler uses pseudo-instructions and they will overwrite
a
Why we save $a0 and $al?
 To have some registers to work with (e.g. to call a
routine). You can save more if needed.
Where do we save $a0 and $al?

 Not in the stack! It can be that the reason we had an
exception is that the $sp got corrupted. We do not want
exception handler to modify user/system data. We store
them in kernel data segment reserved for this purpose

kdata
saveQ: .space 4
savel: .space 4

Why we do not save $k0 and $k17?

« They are reserved for system (i.e. for exception and
Interrupts)
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Eicodoc¢
Unused 1 1

Receiver control
(Oxffff0000)

Interrupt —f t Ready
enable

Unused 8
Receiver data
(Oxtfff0004)
Received byte

Ready = 1 (char from keyboard ready and not read)
0 to 1 when a character is typed on keyboard
1 to 0 when character read from “Receiver Data”

# routine called from handler when interrupted from input
li $t0, Oxffff0004 Edv To IE=1 16Te 6TT0TE TO Ready yivetar 1
lw $vO0, 0($t0) (EpBaoav véa dedouéva)
lw $t1, -4($t0)
andi $t1, $t1, 0x02
sw $t1, -4($t0)
ret

To IE ptTOpEi va TO EVNUEPWOEI TO
TTpoypaupa (setto O or 1)
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Memory Mapped I/O

 |/O Devices are identified/associated
with specific addresses in memory of
a process

e You do not read/write to memory

o EE —— R
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"‘E€0d0C¢

Unused 1 1

Interrupt J t Ready
enable

Transmitter control
(0xft1f0008)

Unused 8
Transmitter data
(Oxffff000C)
Transmitted byte

Eav 10 IE=1 161€ O110TE TO Ready
yiveral 1 €Tolgo yia vea dedopEva

# character in $a0, spin until device ready
i $t0, Oxffff0008 , ,

To IE yTtTOpEi VO TO EVNUEPWOEI TO

lw $vO0, 0($t0) TpoypapHa

andi $v0, $v0, 0x01

beq $v0, $zero, wr poll

sw $a0, 4($t0)

wr poll:

When Data is written RB is setto 0
RB should be 1 to write new data
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Receiver control
(Oxffff0000)

Receiver data
(Oxttff0004)

Transmitter control
(0xft1f0008)

Transmitter data
(Oxffff000c)

Unused 1 1

Interrupt —f f— Ready

enable

Unused 8

Received byte

Unused 1 1

4

Interrupt f— Ready

enable

Unused 8

Transmitted byte
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Actually reading and writing independent of
processor

o Systems delegate input and output to IO device
controllers

* Processor write data in memory and output controller do
the actually output while processor continues executing
program

 Read data by input controller in memory (while
processor executes) and interrupt processor to read data
when in memory
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User Program

0 Write to

Syscall for device

output
4 I

Output controller and program execution proceed in parallel
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Interrupts vs Polling
Poll:

you need to spin wait until something
happens or timeout

Interrupt:

processor gets interrupted when device
Interrupt bit enabled.

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)



‘Exoupe KOAUWEI EVA UTTOOUVOAO TNG
OPXITEKTOVIKNG MIPS

To TTapapTnua B £€nya 10 TTWC va
KOOOPIOETE TO TTEPIEXOMUEVO TWV
OlaOopwWYV segments (.text, .data)
euBEAgIa (.globl), alignment, strings,
Mmacros Kol oTafepEg

Evotnta 2 - EvioAéc: H yA\wooa punxavng (Keg. 2 atmé Patterson kal Hennessy)
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